
 

4329/(Set : D)   P. T. O. 

CLASS : 12th (Sr. Secondary) Code No. 4329 
Series : SS-M/2019 

Roll No. 

jlk;u foKkujlk;u foKkujlk;u foKkujlk;u foKku    
CHEMISTRY 

[ Hindi and English Medium ]  

ACADEMIC/OPEN 

(Only for Fresh/Re-appears Candidates) 

Time allowed : 3 hours ] [ Maximum Marks : 70 

• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 16 rFkk     
iz'u 21 gSaA  
Please make sure that the printed pages in this 

question paper are 16 in number and it contains 21 

questions. 
• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsV lsV lsV lsV dks 

Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 
The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 
• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 

vo'; fy[ksaA 
Before beginning to answer a question, its Serial 

Number must be written. 

SET : D 
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 ( 2 ) 4329/(Set : D) 

4329/(Set : D) 

• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 
Don’t leave blank page / pages in your answer-book. 

• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 
Except answer-book, no extra sheet will be given. 
Write to the point and do not strike the written 
answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 
Candidates must write their Roll Number on the 
question paper. 

• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA    

 Before answering the question, ensure that you 
have been supplied the correct and complete 
question paper, no claim in this regard, will be 
entertained after examination. 

lkekU; funsZ'k % &lkekU; funsZ'k % &lkekU; funsZ'k % &lkekU; funsZ'k % &    
 (i) LkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaA    
 (ii) ç'u la[;k 1 esa pkSng pkSng pkSng pkSng (i - xiv) oLrqfu"B iz'u gSaA izR;sd 

iz'u 1 vad dk gSA funsZ'kkuqlkj bu iz'uksa ds mÙkj 
nhft,A 

 (iii) ç'u la[;k 2 ls  11 rd vfry?kq mÙkjh; ç'u gSaA çR;sd 
iz'u 2 vadksa dk gSA izR;sd iz'u dk mÙkj yxHkx 30 
'kCnksa esa nhft,A 
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 ( 3 ) 4329/(Set : D) 

4329/(Set : D)  P. T. O. 

 (iv) ç'u la[;k 12 ls  18 rd y?kq mÙkjh; ç'u gSaA çR;sd 
ç'u 3 vadksa dk gSA izR;sd iz'u dk mÙkj yxHkx 40 
'kCnksa esa nhft,A 

 (v) ç'u la[;k 19 ls  21 rd nh?kZ mÙkjh; ç'u gSaA çR;sd 
ç'u 5 vadksa dk gSA izR;sd iz'u dk mÙkj yxHkx 70 
'kCnksa esa nhft,A 

 (vi) iz'u-i= esa lexz :i ls dksbZ fodYi ugha gSA rFkkfi 5 

vadksa okys lHkh nh?kZ mÙkjh; iz'uksa esa vkarfjd p;u iznku 
fd;k x;k gSA ,sls iz'uksa esa ls vkidks dsoy ,d,d,d,d gh iz'u 
djuk gSA 

General Instructions : – 

 (i) All questions are compulsory. 

 (ii) Question Number 1 consists of Fourteen (i-xiv) 

objective type questions carrying 1 mark 

each. Answer these questions as per 

instructions. 

 (iii) Question Numbers 2 to 11 are very short 

answer type questions of 2 marks each. 

Answer these in about 30 words each. 

 (iv) Question Numbers 12 to 18 are short answer 

type questions of 3 marks each. Answer 

these in about 40 words each. 

 (v) Question Numbers 19 to 21 are long answer 

type questions of 5 marks each. Answer 

these in about 70 words each. 
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 ( 4 ) 4329/(Set : D) 

4329/(Set : D) 

 (vi) There is no over all choice. However, internal 

choice is given in all long answer type 

questions of 5 marks each. You have to 

attempt only one of the given choice in such 

questions. 

[    oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u ] 

[ Objective Type Questions ] 

 fuEufyf[kr cgqfodYih; iz'uksa ds lghlghlghlgh fodYi pqudj mÙkj-
iqfLrdk esa fyf[k, % 

 Choose the correct option of the following 

multiple choice questions and write in answer-

book : 

  1. (i) fdl izdkj ds Bksl fo|qr~ pkyd] vk?kkro/;Z vkSj rU; gksrs 
gSa \ 1 

  (A) vkf.od Bksl (B) vk;fud Bksl 

  (C) /kkfRod Bksl (D) lgla;kstd Bksl 

  What type of solids are electrical 

conductors, malleable and ductile ? 

  (A) Molecular solids  

  (B) Ionic solids 

  (C) Metallic solids  

  (D) Covalent solids 
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 ( 5 ) 4329/(Set : D) 

4329/(Set : D)  P. T. O. 

 (ii) fuEu esa ls fdlds fy, okUV gkWQ xq.kd dk eku lokZf/kd 

gS \    1 

  (A) 0.1 M 342 )(SOAl   

  (B) 0.1 M 6126 OHC   

  (C) 0.1 M 42SOK  

  (D) 0.1 M NaCl 

  Which of the following has highest value of 

Van't Hoff factor ? 

  (A) 0.1 M 342 )(SOAl   

  (B) 0.1 M 6126 OHC   

  (C) 0.1 M 42SOK  

  (D) 0.1 M NaCl 

 (iii) 'kwU; dksfV dh vfHkfØ;k dk mnkgj.k gS % 1 

  (A) Lo.kZ lrg ij HI dk Å"eh; fo;kstu 

  (B) ,Fkhu dk gkbMªkstuu 

  (C) 52ON  dk vi?kVu  

  (D) lwØksl dk izfrykseu 
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 ( 6 ) 4329/(Set : D) 

4329/(Set : D) 

  An example of Zero Order Reaction is : 

  (A) Thermal decomposition of HI on gold 

surface 

  (B) Hydrogenation of ethene 

  (C) Decomposition of 52ON  

  (D) Inversion of Sucrose 

 (iv)         ;22 HClSOXSOCl ++→+  X D;k gS \ 1 

  (A)  (B)  

  (C)  (D)  

          ;22 HClSOXSOCl ++→+  what is X \ 

  (A)  (B)  

  (C)  (D)  

OH 

Cl 

Cl 

OH 

Cl 

Cl 

OH 

OH 

Cl 

Cl 

OH 

Cl 

Cl 

OH 
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 ( 7 ) 4329/(Set : D) 

4329/(Set : D)  P. T. O. 

 (v) xkVjeku dks[k vfHkfØ;k ls dkSu&ls dkcZfud ;kSfxd dk 
fojpu gksrk gS \   1 

  (A) ,fyQSfVd ,sfYMgkbM  
  (B) ,sjkseSfVd dhVksu 
  (C) ,fyQSfVd dhVksu 
  (D) ,sjkseSfVd ,sfYMgkbM 

  What type of organic compound are 

prepared by Gatterman-Koch reaction ? 

  (A) Aliphatic Aldehyde 

  (B) Aromatic Ketone 
  (C) Aliphatic Ketone 

  (D) Aromatic Aldehyde 

 fuEufyf[kr iz'uksa ds mÙkj ,d,d,d,d ;k nksnksnksnks okD;ksa esa nhft, % 
 Answer the following questions in one or two 

sentences : 

 (vi)  dksyksfM;u D;k gS \   1 
  What is collodion ? 

 (vii) edZjh lsy vius laiw.kZ dk;Z vof/k eas 1.35 V dk fLFkj 
foHko nsrh gSA D;kas \   1 

  Mercury cell gives a constant voltage of 

1.35 V during its life time. Why ? 

 (viii) D;k gksrk gS tc 5PCl  dks xeZ djrs gSa \ 1 

  What happens when 5PCl  is heated ? 

http://www.bsehonline.com/

http://www.bsehonline.com/

http://www.bsehonline.com/

Stu
de

nt
Suv

idh
a.

co
m

Download all NOTES and PAPERS at StudentSuvidha.com

dow
nloa

ded
 fro

m

http://www.bsehonline.com
http://www.bsehonline.com
http://www.bsehonline.com
Free Hand Highlight

Free Hand Highlight

Free Hand Highlight

http://studentsuvidha.com/
http://studentsuvidha.com/


 ( 8 ) 4329/(Set : D) 
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 (ix) ClNOClNHCo )]()([ 243 dk IUPAC uke nhft,A 1 

  Give IUPAC name of ClNOClNHCo )]()([ 243 . 

 (x) fuEu vfHkfØ;k dks iwjk dhft, %  1 

             
OHH

O

2

2

/(ii)

(i)
+  ?  

  Complete the reaction : 

             
OHH

O

2

2

/(ii)

(i)
+  ?  

 (xi) vuvipk;h 'kdZjk D;k gksrh gS \  1 

  What are Non-reducing sugars ? 

 (xii) U;wDyhd vEyksa ds nksnksnksnks eq[; dk;Z D;k gSa \ 1 

  What are two main functions of Nucleic 

Acids ? 

 (xiii) 

















−−−−

H

NCH

O

C
|

52

||

)(  cgqyd dh ,dyd bdkbZ   

fyf[k,A   1 

  Write monomer unit of 

















−−−−

H

NCH

O

C
|

52

||

)(  

polymer. 

CH(CH3)2 

CH(CH
3
)2 
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 ( 9 ) 4329/(Set : D) 
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 (xiv) gesa Ñf=e e/kqjdksa dh vko';drk D;ksa iM+rh gS \ 1 

  Why do we require artificial sweetening 

agents ? 

[ vfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'u    ] 

[ Very Short Answer Type Questions ] 

  2. D;k gksrk gS tc 'osr QkWLQksjl dks 2CO  ds vfØ; okrkoj.k 
esa lkUnz dkfLVd lksMk foy;u ds lkFk xeZ djrs gSa \ blds 
fy, jklk;fud lehdj.k Hkh nhft,A 2 

 What happens when white phosphorus is heated 

with Conc. NaOH solution in an inert 

atmosphere of 2CO  ? Also give chemical 

equation for this. 

  3. Xykbdkstu D;k gksrk gS rFkk ;g LVkpZ ls fdl izdkj fHkUu gS \ 2 

 What is glycogen ? How is it different from 

starch ? 

  4. tSofuEuh; cgqyd D;k gS \ ,d tSofuEuh; ,sfyQSfVd 
ikWfy,LVj dk mnkgj.k nhft,A 2 

 What is a biodegradable polymer ? Give an 

example of a biodegradable aliphatic polyester. 

  5. bZa/ku lsy D;k gksrh gS \ 22 OH −  bZa/ku lsy esa gksus okyh 
vfHkfØ;k,¡ fyf[k,A 2 

 What are fuel cell ? Write reaction taking place 

in 22 OH −  fuel cell. 
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 ( 10 ) 4329/(Set : D) 
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  6. izfrvEy ,oa izfr&,ythZ vkS"k/k fgLVSfeu ds dk;Z esa ck/kk Mkyrh 
gSa] ijUrq ;g ,d&nwljs ds dk;Z esa ck/kd D;ksa ugha gksrh \ 2 

 While antacid and antiallergic drugs interfere 

with the function of histamines, why do these 

not interfere with the function of each other ? 

  7. csUthu dk DoFkukad 353.23 K gS 1.80 g vok"i'khy foys; 
dks 90 g csUthu esa ?kksyus ij foy;u dk DoFkukad c<+dj 
354.11 K gks tkrk gSA foys; ds eksyj nzO;eku dh x.kuk 
dhft,A csUthu ds fy, Kb dk eku 2.53 K Kg mol–1 gSA 2 

 The boiling point of benzene is 353.23 K. When 

1.80 g of a non-volatile solute was dissolved in 

90 g of benzene, the boiling point is raised to 

354.11 K. Calculate the molar mass of the 

solute. Kb for benzene is 2.53 K Kg mol
–1
. 

  8. ?kfM+;ksa ,oa vU; ;qfDr;ksa esa vR;f/kd mi;ksx esa vkus okyh cVu 
lsyksa esa fuEufyf[kr vfHkfØ;k gksrh gS % 2 

 )s(2)aq()()s()s( 2
22 AgZnlOHOAgZn +→++ +

 

)aq(2 −+ OH  

 vfHkfØ;k ds fy, oGγ∆  ,oa cellE o  Kkr dhft,A 
 76.|2 −=+ ZnZnE o V   80.| +=+ AgAgE o V 
 In the button cells widely used in watches and 

other devices the following reaction takes place : 

 )s(2)aq()()s()s( 2
22 AgZnlOHOAgZn +→++ +

 

)aq(2 −+ OH  

 Determine oGγ∆  and cellE o  for the reaction. 
 76.|2 −=+ ZnZnE o V   80.| +=+ AgAgE o V 
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 ( 11 ) 4329/(Set : D) 

4329/(Set : D)  P. T. O. 

  9. eksyjrk vkSj eksyyrk esa foHksn dhft,A nksuksa esa ls rkieku ls 
dkSu&lk izHkkfor gksrk gS vkSj D;ksa \ 2 

 Distinguish between Molarity and Molality. 

Which of the two is affected by temp. and why ? 

10. ,d jklk;fud ijh{k.k }kjk ,suhyhu ,oa csfUtyvehu esa foHksn 
dhft,A 2 

 Distinguish between Aniline and Benzylamine 

with the help of a chemical test. 

11. vki csUthu dks m-czkseksQhukWy esa dSls ifjofrZr djsaxs \ 2 

 How will you convert benzene to m-Bromophenol ? 

[ y?kqy?kqy?kqy?kq    mÙkjh; iz'u mÙkjh; iz'u mÙkjh; iz'u mÙkjh; iz'u ] 

[ Short Answer Type Questions ] 

12. fuEufyf[kr ;qxyksa ds inksa ¼'kCnksa½ esa foHksn dSls djsaxs \ 2 + 1 = 3 

 (a) "kVdks.kh; fufoM ladqyu ,oa ?kuh; fufoM ladqyuA 

 (b) prq"Qydh; fjfDr ,oa v"VQydh; fjfDrA 

 How will you distinguish between the following 

pairs of terms ? 

 (a) Hexagonal close packing and cubic close 

packing ? 

 (b) Tetrahedral void and octahedral void ? 
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13. (a) ,d izFke dksfV dh vfHkfØ;k esa 30% fo;kstu gksus esa 
40 feuV yxrs gSaA t½ dh x.kuk dhft,A 2 

  A first order reaction takes 40 minute for 

30% decomposition. Calculate t½. 

 (b) la?kV~V vko`fÙk fdls dgrs gSa \ 1 

  What is meant by collision frequency ? 

14. fuEu inksa ¼'kCnksa½ dks le>kb, % 1 × 3 = 3 

 (a) oS|qr~ d.k lapyu 
 (b) ,sYdkslkWy 
 (c) viksgu 
 Explain the following terms : 

 (a) Electrophoresis 

 (b) Alcosol 

 (c) Dialysis 

15. fuEufyf[kr fof/k;ksa }kjk /kkrqvksa ds 'kks/ku ds fl)kUrksa dh 
:ijs[kk nhft, % 1 × 3 = 3 

 (a) fudsy 'kks/ku dk ekWUM izØeA 
 (b) oS|qr~-vi?kVu ifj"dj.kA 
 Outline the principles of refining of metals by 

the following methods : 

 (a) Mond's process for refining of Nickel. 

 (b) Electrolytic refining. 

16. (a) fØLVy {ks= fl)kar dks iz;qDr djrs gq, le>kb, fd dSls 
gsDlk,DokeSaxuht (II) vk;u esa ik¡p v;qfXer bysDVªkWu gSa 
tcfd gSDlklk;uks vk;u esa dsoy ,d gh v;qfXer 
bysDVªkWu gS \ 2 
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 ( 13 ) 4329/(Set : D) 
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  The hexaquamanganese (II) ion contains five 

unpaired electrons, while the hexacynoion 

contains only one unpaired electron. 

Explain using Crystal Field Theory. 

 (b) dhysV ladqy fdls dgrs gSa \ 1 

  What is meant by Chelate complex. 

17. le>kb, D;ksa % 1½ × 2 = 3 

 (a) ,sYdksgkWy rFkk KI dh vfHkfØ;k esa lY¶;wfjd vEy dk 
mi;ksx ugha djrs \ 

 (b) ukfHkdjkxh izfrLFkkiu vfHkfØ;kvksa esa ,sfyy DyksjkbM n-
izksfiy DyksjkbM ls vf/kd fØ;k'khy gksrk gS \ 

 Explain why : 

 (a) Sulphuric acid is not used during the 

reaction of alcohols with KI ? 

 (b) Allyl chloride is more reactive than n-propyl 

chloride towards nucleophilic substitution 

reactions ? 

18. fuEu ij y?kq fVIi.kh fyf[k, % 
 (a) jkbej&Vheu vfHkfØ;kA   2 

 (b) vlefer bZFkjA   1 

 Write short note on the following : 

 (a) Reimer-Tiemann reaction. 

 (b) Unsymmetrical ether. 
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[    nh?kZ mÙkjh; iz'u nh?kZ mÙkjh; iz'u nh?kZ mÙkjh; iz'u nh?kZ mÙkjh; iz'u ] 
[ Long Answer Type Questions ] 

19. (a) vksfy;e D;k gS \ bldh lajpuk cukb,A 2 

  What is Oleum ? Draw its structure.  

 (b) ¶yqvksjhu dsoy ,d vkWDlksvEy HOF cukrk gS tcfd 
vU; gSykstu vusd vkWDlksvEy cukrs gSa \ D;ksa \ 2 

  Fluorine forms only one oxoacid HOF, while 

other halogen form several. Why ? 

 (c) fuEufyf[kr vfHkfØ;k dks iwjk dhft, % 1 

   ?52 →+ PFXeF  

  Complete the reaction : 

   ?52 →+ PFXeF  

vFkokvFkokvFkokvFkok    

OR 

 (a) mRÑ"V xSlksa dh jklk;fud vfHkfØ;k ds izfr vfØ;rk ds 
D;k dkj.k gSa \ 2 

  What are the reasons of inertness of Noble 

gases towards chemical reactivity ? 

 (b) 2OF  rFkk 22FO  dks vkWDlhtu ¶yksjkbM dgrs gSa u fd 
¶yqvksjhu vkWDlkbMA le>kb,A  2 

  2OF  and 22FO  are called oxygen fluorides 
and not fluorine oxides. Explain. 
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 ( 15 ) 4329/(Set : D) 

4329/(Set : D)  P. T. O. 

 (c) oxZ 16 ds rÙoksa ds gkbMªkbMksa dks DoFkukadksa ds c<+rs Øe 
esa O;ofLFkr dhft,A   1 

  Arrange the hydrides of group 16 elements 

in increasing order of their boiling points. 

20. (a) laØe.k /kkrqvksa dh vkWDlhdj.k voLFkkvksa esa 
ifjorZu'khyrk vlaØe.k /kkrqvksa esa vkWDlhdj.k voLFkkvksa 
esa ifjorZu'khyrk ls fdl izdkj fHkUu gS \ mnkgj.k nsdj 
Li"V dhft,A 3 

  How is variability in oxidation states of 

transition metals different from that of the 

non-transition metals ? Illustrate with 

examples. 

 (b) ;wjksfi;e (II) flfj;e (II) ls vf/kd LFkk;h D;ksa gS \ 2 

  Why is Europium (II) is more stable than 

Cerium (II). 

vFkokvFkokvFkokvFkok    
OR 

 (a) ySUFksukW;M Js.kh ds mu lHkh rÙoksa dk mYys[k dhft, tks 
+4 rFkk +2 vkWDlhdj.k voLFkk,¡ n'kkZrs gSaA bl izdkj ds 
O;ogkj rFkk buds bysDVªkWfud foU;kl ds chp lEcU/k 
LFkkfir dhft,A 3 

  Name the members of the lanthanoid series 

which exhibit +4 oxidation states and those 

which exhibit +2 oxidation states. Try to 

correlate this type of behaviour with the 

electronic configurations of these elements. 
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 ( 16 ) 4329/(Set : D) 

4329/(Set : D) 

 (b) laØe.k /kkrq,¡ lkekU;r% jaxhu ;kSfxd cukrh gSaA dkj.k 
nhft,A   2 

  The transition metals generally form 
coloured compounds. Give reasons. 

21. (a) HCN dh izksisuksu ds lkFk ukfHkdjkxh ;ksxt vfHkfØ;k ds 
fy, fØ;kfof/k nhft,A 2 

  Give mechanism for the nucleophilic 
addition reaction of HCN with propanone. 

 (b) ,sYMksy la?kuu ij ,d fVIi.kh fyf[k,A 3 

  Write a note on Aldol Condensation. 

vFkokvFkokvFkokvFkok    
OR 

 (a) dkcksZfDlfyd vEyksa dh vEyrk ij izfrLFkkfi;ksa ds izHkko 
dk mYys[k dhft,A 3 

  Describe the effect of substituents on the 
acidity of carboxylic acids. 

 (b) VkWyqbZu dk 3CrO  ds lkFk csUtSfYMgkbM esa vkWDlhdj.k 
,slhfVd ,u~gkbMªkbM dh mifLFkfr esa fd;k tkrk gSA    
D;ksa \    2 

  Oxidation of Toluene with 3CrO  to 

benzaldehyde is carried out in the presence 
of acetic anhydride. Why ? 

SSSS  
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